@, AWHEAKZH
KFERE
- | S
75 & B iR

B RNEE R

_--'
A ym NEWEDITION

MEER HE—
¢ AMER KIRE FH B



AKFRBAEEAABAMER

MBEH: #E—
M E & KL X F
B = & 25 BEFE 3 H

WEQHR: #7Z% FEHF K W

AR AKX A P
HhAaE FTXH THKF

TORA YL U L

www _ centuryoriental ,.com,cn




BHBERS B (CIP) MR

R %tﬁf‘ﬂ%ﬁﬁﬁﬂﬁﬁ@éﬁ/ﬁﬁ—iéﬁ
65T B A HARA, 2003

ISBN 7-5083-1964-8

I.R T.%- 0. HE-BFER—KEERX—ME N.H319.6

o ] iR A< B B4 CIP B84 7 (2003) 46 117457 5

RELEAEHRERR TR

HiEmE:> B K B
HARRAT B 7 AR

2004 4E1 A5 1R 2004 4E 2 A %5 2 IREIRY
£.1SBN 7-5083-1964-8
#.14.80 7T

#t Hb AR = I 6 5 (100024)
) it : http: // www . centuryoriental. com. cn
B R b e

7 A:889 XK x 1194 FEX

Bl #:12.5

¥ #:320F

hit

+

E

IRETE  EEHBR
W BN B )R, S iR SRR A . BX A HLi% 010 - 62193493



g

KFHER

it

7

JK
=
e
=
3
4
S
2
K
=
s
3=
o
5

W Kk AFISBEXRF
Bk TEHFXS
T OHFE LT

i

G R T R R R R R Y ? y & AL VT A
ST AT % > Z N AN N AN A XN ALY




SO OV N S OF )

%
4
¢
i
&
e
i
pd
&
i
4
%
§
/e
5
&
7]
ki
I
£
i
8
b
§
&
&
i
i
k-
&
s

TART AR ) A

¥ %

BB RIS EESRP AMNL EAFE SN, ANEXERSNOSEIE
MO ARERKARETR. 2PRE 10 XXE, SELEHE 5S8R
R R FEERS. FERERENSERISUSE SEREYERS
EFEOENK TR, ISR BB L IBHMR.
FROSRERMERED, SRRA, ERRY, REREN WS NHTTR
VERE, BF Y ESYNEN, SN IREARKER AT SEGZ ¥ I,

FRRAERESESHNTRS:

— M2 & EBRST CET 6 FrEtESIE . U7 HERDNLS M e
RIS 5510 ERAS EXEE: MFEY . FHERPNAERS ISRFE.X &
BN GSE.
L I AMA R APNAEREET T B8N, SELBEL, THREN
BTELE.EREZ. AHBERNURNBESEESKL. B EIES TR
AL MBI E N BERIS,

S ARt APERIESSE. ANEN, BEES MBS S X0, SRRk
. ERENREIBRT IR, X8, TS NTFERDT ERRSOEFE M
EHERAE.

OO k& % A ABRARS T HRGS, BRFFERTORUR, BASE. T |
ABREBDAGHRSRISNBEERR, BN PR THENTRIYE,
B M AR A BT BRABNARSBRBEMNEARERE. G SHVBT, 1
U EEMRERNET, HERTHRNRES—RE#T T EENMENNR, Bk |
WEEE, -

N ES 4 3 BEBHRURSS EEN, TEREt T —RERBS, MO FHBIE
R NBEERTA. X—REHHEN0N ASEMREDERE—F TN, “BAM
&, ROBAME, " BITNE L SRE BALE",

IBERELED, FRTLEESHIERNRENER, BN HFHFAFASH
NS, FERFD#T TR, BN T AFENSIFONT, RSITE( RS,
PONERRSER 2L, BRI KRS REACHIMSE, TR XSLERBSHRMA,

R O G B R R A0 e RO R R s s
ki

A A A AR A A AT A T A A TN A A RO S

R R S

w® &

gm R B R B B B R B R B B o s S R S R B B AR B R R A



R R PR ST 8 7 P R 6 SR BN R S 0 e R TR

b

R R R R B R R R R B A O R W S W o o S ms e o e S BV ROV VSR O R Y

Im
H

AL AT R A Y

CAEXATR AT

DG o Ry R ) B T P (1)
KL BB L ARG () wvvvvermrvermmmrnraaa e s e (19)
KL B AR RBEHIRIT(T) covvveeeererresmmrreemre e (39)
KB AR RBIIRIT(PG) cvvreevrmmneeermmmmre i (59)
KFPIBE AR L IRRERULIT(FL) covevrrrererrrrrrr e (81)
K YE AR R L RBERUIRITI(FN) c-oeerreerrerrrmmrrreermmiee e (99)
K BB A RMERIRIT (D) +eeervvvrererrrrrreeeemmnite e e (117)
KA BIBE AR LK (L) reererererrrr (135)
KB AR IRBEIRIT (JL) cvvvvreeermrrererrmmrses i (155)
Fe e BB AR RBERURIT () oeervvvvrreeemmmermreesemmmnire e (173)

e

.

|
|

flﬁi,nuw R R RO LA GG ORI O DR Y OO 030 LA




\ fee g,

SNRT R IR K A A (— )

BRS | WHER | REER | BREH | A0 | SBRE | MEEE | B8 | GXER
BESE | 100 20 40 15 10 s
" &
o ALY
Part | Listening Comprehension (20 minutes)
Section A

Directions: In this section , you will hear 10 short conversations. At the end of each
conversation , a question will be asked about what was said. Both the conversation and
-the question will be spoken only once . After each question there will be a pause. During
the pause, you must read the four choices marked A), B), C) and D) and decide
which is the best answer. Then mark the corresponding le;te_r on the Answer Sheet with a
single line through the center . '

1. [ )

M: Could you please tell me what room Robert Davis is in?

W: Yes, he’s in the intensive care unit on the fourth floor. I suggest that you check
with the nurse’s station before going in.

Q: Where did this conversation most probably take place? k

(8]

A) At a gas station.

B) At a bank.

C) At a hospital .

D) At a school.

2. ()
M: Why do you look so worried? Only one person finished ahead of you last time.

W: Well, this time I want to make sure I come in first.
Q: Why is the woman worried?

[iXE] '

A) She wants to win the race.

B) She is tired of losing.

C) She doesn’t want to disappoint her family.

D) Her sister is waiting for her.

3. (W)
M: I went to New York yesterday, but I forgot to call Barry.
W: Barry wouldn’t have been there anyway. He’s an economist in California now.
Q: What information does the man find out?
(iX)
A) Barry no longer lives in New York.

[#R]& 94 10 A28, 4 A).B)
D) P AL REER, FALHARKL
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B) Barry doesn’t know how to economize .
C) The woman called Bafzy in California. R
D) The woman didn’t ever meet Barry.

A #]

M: It only takes two hours to get to New York, but you’ll have a six-hour layover
between flights.

W: Oh, that’s all right. I don’t mind having the time in New York. I still have a
few things to shop for.

Q: How many hours will the woman be in New York?

(i8]

A) Two hours.

B) Four hours.

C) Six hours.

D) Eight hours.

Aw#E]

M: We don’t have to start for the stadium yet. Wouldn’t you like something else?

W: No, thanks. You’d better tell her to bring our check. It’1l take a while to find
a parking place, especially with so many star players involved.

Q: Where are the man and woman going?

(iXA)

A) A restaurant.

B) The station.

C) The stadium.

D) A star.

Awr#&)

M: I’d like to buy a $10 ticket for Friday’s concert.

W: That’ll put you on the floor. The tickets in the lower balcony are five dollars
while the upper balcony seats are two-fifty.

Q: What is the man’s ticket for?

()

A) A play.

B) A movie.

C) A lecture.

D) A concert.

7. (&) ,

M: We’ll have to hurry if we’ re going to be on time to the airport. It’s already
8:30. '

W: Well, it takes only half an hour to get to the airport, and the plane doesn’t
leave until 9:15. I think we’ll make it all right if we leave immediately.

Q: How much time is the couple allowing once they get to the airport?

28 )

A) Three-quarters of an hour.

B) Half an hour.

4.(*!]C [%R])BTE
[ |88 B “layover” MER "I
RONEEER",
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C) A quarter of an hour.

D) Ten minutes.

8. (W]
M: Your son is only badly bruised. In a couple of days he’ll be well enough to go
back to climbing trees.
W: He won't be climbing any more trees if 1 can help it.
Q: What happened to the boy?
()
A) He fell.
B) He had a fight.
C) He was killed.
D) He was punished.

9. [RF%&]
W: May I borrow your ladder for an hour, Mr. Riley?

M: Of course you may, but I don’t think you should try to pick those green apples
in the upper branches for at least two more weeks. By that time they’ 1l all be
red.

Q: Why did Mr. Riley think the woman should not borrow this ladder at that time?

(8]

A) The upper branches were too high for the woman.

B) The lower branches didn’t have any green apples.

C) The apples on the top branches weren’t ripe.

D) In one week, there would be more apples.

10. [R7#)
W: My son finds it very difficult to be away from home. I’ m afraid that he will

drop out of college.

M: I had a similar problem with my older son. But he managed to adjust and
stayed in school until he graduated.

Q: Where is the woman’s son at the present time?

[i£8]

A) Away from home.

B) In the army.

C) At a distant college.

D) At camp.

Section B

Directions: In this section, you will hear 3 short passages. At the end of each pas-
sage, you will hear some questions. Both the passage and the questions will be spoken
only once. After you hear a question you must choose the best answer from the fowr
choices marked A), B), C) and D). Then mark the corresponding letter on the An-
swer Sheet with a single line through the center.

8. [HR]A [R]DTEHE
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Passage One
(&)
Although America is a huge country, traveling is very quick and easy. The visitor

who wants to see as much of the country as possible should travel by bus. That is, if

he hasn’t got a friend who owns a car. It’s fun. There is fast bus service between
cities, for example, the Greyhound bus service, which has the picture of a greyhound,
a dog which can run very fast on the side of the bus. Some buses have an upper and a
lower level. The roof is often made of glass and in the summer the heat of the sun
through the glass makes it too hot. Although the buses are cooled by air conditioning,
it does not always seem to work well on the top level. The seats are soft with a reading
lamp over each one and they lean back for sleeping at night. On these long distance
buses there is a toilet on board.

Stops are made for meals at roadside restaurants and there is time to stretch your
legs. It takes about three and a half days to cross America by bus with short stops for
meals.

Flying is as simple as going by bus. There are two kinds of service, a regular ser-
vice on which free meals are provided, and a stop over service where the plane stops
over at various cities. Most cities have an airport, and you can often buy your tickets
and arrange your air trip all with about twenty minutes. Businessmen who are in a hur-
ry do all their traveling by plane. The roads and highways are splendid, running
straight for hundreds of miles. Some are free ways which means that there is no charge
for using them. There are others called turnpikes for which the drivers have to pay.
There are no crossroads or traffic lights. Other roads, run either above or undemeath
the highways with roads leading up or down to them from either side.

Questions 11 to 14 are based on the passage you have just heard:
11. [ ] Why does the speaker recommend travel by bus?

A) It’s fast and comfortable.

B) You can see more of the country.

C) You can sleep .

D) It’s safer than trains.

12. [/ ] Why are the long distance buses called Greyhound buses?
A) There’s a picture of a greyhound on the side of the bus.
B) The buses are as fast as greyhounds.
C) The buses go to the country.
D) Americans like greyhounds.

13. [/ ] Why are businessmen more likely to travel by plane?
A) They don’t like buses.
B) They are always in a hurry.
C) They find trains too crowded.
D) They think planes more comfortable.

14. [ /8 ] What is a freeway?
A) 1It’s a highway for everybody.
B) It leads from one state to another freely.

HE

€3 1)

travel by bus BARZERST
greyhound D40

businessman A

froc way RN

11.[#%R]B [ ¥R ]BTH
(W47 E355 1 B25E 2 5. “The visitor
who wants to see as much of the country
as possible should travel by bus. " T/
HEE,

12.[%%E]A SR ]4TE
(WAL 1 B384 17 " the Grey-
of a greyhound, ad:gwhichca;lnm
very fast on the side of the bus.”
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[Ma7] TS5 3 BSB 4 17: " Business-
men who are in a humy, do all their
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[ ER]C [#K]EDA
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C) 1t’s a road where the driver does not pay for using it.
D) A freeway is a highway not controlled by the government.

Passage Two
(V&)
There’s an old saying that goes, “It never hurts to ask.” Here is a famous American

story that proves the truth of this statement. In 1620, a group of settlers came from
England to the New World. They built a small community in Massachusetts and they
called it Plymouth colony. Miles Standish, a middle-aged widower, lived there. He
shared a small cabin with a handsome young man, named John Alden. Miles felt lonely
without a wife. One day he told John that he wanted to marry one of the young women
from the colony, Priscilla Mollens. But Miles was afraid to propose to her himself. So
he asked his friend John to do it for him. Poor John also wanted to marry Priscilla, but
he didn’t tell Miles that. Instead, he went to merry Priscilla and asked her to marry
Miles Standish. Priscilla was surprised and disappointed. She listened quietly. Then
she said, “Why don’t you speak of yourself, John?”

Questions 15 to 17 are based on the passage you have just heard:
15. (i ] Who did Miles Standish live with in the small cabin?

A) He lived with his wife.

B) He lived with his son.

C) He lived with his friend.

D) He lived with his daughter.

16. {8 ] Who did Priscilla want to marry?
A) John Alden.
B) Miles Standish.
C) Neither John nor Miles.
D) She had no idea.

17. [#A/8 ] What does the story try to prove?
A) That it does no harm to ask.
B) That one should never trust a woman.
C) That true friendship is true.
D) That one should always ask a friend for help.

Passage Three
(&)

feature on the moon; thus, the most active processes are the crater-forming ones.

Today, scientists generally believe that most of the craters are of impact origin,
that is, the craters were formed as a result of bombardment by cosmic debris, but that
volcanic activity has also played an important part in forming many craters and in deter-
mining the nature of the moon’s surface.

Craters range in size from small pits, as seen for the first time in the surveyor
photographs, to the giants that measure hundreds of miles in diameter. Small craters
are vastly more abundant than large ones, and a tally of craters in various size cate-

Spacecraft photography has verified that craters far outnumber any other type of

[0k ) 1t never huris o ask. RHE
TH.

15. [#®]C (HR)ATE
[MA7 )P 4 {T: “He shared a
small cabin with a handsome young
man, named John Alden. "

16.[%®]A (B VATHED
(W | L EREREFATIN
“Why don’ t you speak of yourself,
Jobn? " BT, BRI Ao

17.[%R]A (R EDRET
[RFINEFBAT—TEE"D
never huts 10 ask. " BEEXAT
NEBIFERTRY, R TR, B3R
R Ao -

[a®)

crater J18, Y
spacecrslt AR
meteoroids A
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gories provides a rough measure of the rates of bombardment. Micrometeoroids fre-
quently bomb the moon, large meteoroids strike more frequently and perhaps once in
hundreds of thousands or millions of years, a comet or asteroid collides with the mobn

to form a giant crater.

Questions 18 to 20 are based on the passage you have just heard:
18. [ /8 ) What are the most active processes on the moon?

A) Bombardment by meteors.

B) Revolution.

C) Crater formation.

D) Tidal influences.

19.[i#%8) What was the source of the photographs from which this information was
derived?
A) A survey.
B) A spacecraft.
C) Observatories .

D) Documents.

20.[3X /] What type of object most frequently strikes the moon’s surface?
A) Tiny meteoroids.
B) Comets.
C) Cosmic rays.

D) Space probes.

(85 minutes)

Part I Reading Comprehension

Directions: There are 4 reading passages in this part. Each passage is followed by
some questions or unfinished statements. For each of them there are choices marked A),
B),C)and D). You should decide on the best choice and mark the corresponding letter
on the Answer Sheet with a single line through the center .

Passage One
Questions 21 to 25 are based on the following passage:

There is extraordinary exposure in the United States to the risks of injury and
death from motor vehicle accidents. More than 80 percent of all households own pas-
senger cars or light trucks and each of these is driven an average of more than 11,000
miles each year. Almost one-half of fatally injured drivers have a blood alcohol concen-
tration (¥Z/E ) (BAC)of 0.1 percent or higher. For the average adult, over five ounces
of 80 proof spirits would have to be consumed over a short period of time to attain these
levels. A third of drivers who have been drinking, but fewer than 4 percent of all
drivers, demonstrate these levels. Although less than 1 percent of drivers with BACs of
0.1 percent or more are involved in fatal crashes, the probability of their involvement
is 27 times higher than for those without alcohol in their blood .

There are a number of different approaches to reducing injuries in which intoxica-
tion (M§M¥) plays a role. Based on the observation that excessive consumption correlates

18. [ #FR]C [#X]BTE
(M7 )88 | BB 17" thus, the
most active processes are the crater-

forming ones” TH, ERN O,

19.1%%]8 (%50 TH
[ MB47 | 3L FT 18 Spacecraft photogra-
phy”, TR, HRREEATLED
B,

20.[%%]A [(SX]1EDE
[RiF] M EE 3 RAMB 41T
* micrometeorvids frequently bomb the
moon. .., DL TR BRER A)o

(BR]EHFH4RLE ERLEE
RA-LFAAERERE AF 4 R
H4#MH4A A).B).C).D), % thkd
R FEEMR AL,

€3 1)

accidents BH

alcohol X5

BAC= blood aléohol concenitration [} TP
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with the total alcohol consumption of a country’s population, it has been suggested that
higher taxes on alcohol would reduce both. While the heaviest drinkers would be taxed
the most, anyone who drinks at all would be penalized by this approach.

To make drinking and driving a criminal offense is an approach directed only at
intoxicated drivers. In some states, the law empowers police to request breath tests of
drivers cited (f£1) for any traffic offense and elevated BAC can be the basis for ar-
rest. The National Highway Traffic Safety Administration estimates, however, that even
with increased arrests, there are about 700 violations for every arrest. At this level
there is little evidence that laws serve as deterrents (1t ¥ ) to drinking while in-
toxicated. In Britain, motor vehicle fatalities fell 25 percent immediately following im-
\ plementation of the Road Safety Act in 1967 . As Britishers increasingly recognized that
they could drink and not be stopped, the effectiveness declined, although in the fol-
lowing three years the fatality rate seldom reached that observed in the seven years prior

to the Act.

21.[iX ] The author is primarily concerned with
A) interpreting the resalts of surveys on traffic fatalities
B) reviewing the effectiveness of attempts. to curb drunk driving
C) suggesting reasons for the prevalence of drunk driving in the United States
D) analyzing the causes of the large number of annual traffic fatalities

22.[i% M ]It can be inferred that the 1967 Road Safety Act in Britain
A) changed an existing law to lower the BAC level which defined driving while in-
toxicated
B) made it illegal to drive while intoxicated
C) increased the number of drunk driving arrests

D) placed a tax on the sale of alcoholic drinks

23.[ i1 ) The author implies that a BAC of 0.1 percent ' .
A) is unreasonably high as a definition of intoxication for purposes of driving
B) penalizes the moderate drinker while allowing the heavy drinker to consume
without limit
C) will operate as an effective deterrent to over 90 percent of the people who might
drink and drive
D) is well below the BAC of most drivers who are involved in fatal collisions

24 [ )In the first paragraph, the author implies that
A) two-thirds of drivers have not been drinking

a.l#¥xls (#R]=ER

(W15 | 2, A A B2

BEBESBE:E 23 RI TEE |
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B) two-thirds of the drivers who have been drinking have BACs of less than 0.1
percent

C) half of all fatally injured drivers have not been drinking

D) fewer than 4 percent of all drivers involved in accidents have been drinking

25.[ 3818 ) The author cites the British example in order to
A) show that the problem of drunk driving is worse in Britain than in U.S.
B) prove that stricter enforcement of laws against intoxicated drivers would reduce
traffic deaths
C) prove that a slight increase in the number of arrests of intoxicated drivers will
not deter drunk driving
D) suggest that taxation of alcohol consumption may be more effective than criminal

laws

Passage Two
Questions 26 to 30 are based on the following passage:

Is it possible to persuade mankind to live without war? War is an ancient institu-
tion which has existed for at least six thousand years. It was always wicked and usually
foolish, but in the past the human race managed to live with it. Modem ingenuity has
changed this. Either man will abolish war, or war will abolish man. For the present, it
is nuclear weapons that cause the gravest danger, but bacteriological or chemical
weapons may, before long, offer an even greater threat. If we succeed in abolishing
nuclear weapons, our work will not be done. It will never be done until we have suc-
ceeded in abolishing war. To do this, we need to persuade mankind to look upon inter-
national questions in a new way, not as contests of force, in which the victory goes to
the side which is most skillful in massacre, but by arbitration in accordance with a-
greed principles of law. It is'not easy to change age-old mental habits, but this is what
must be attempted .

There are those who say that the adoption of this or that ideology would prevent
war. I believe this to be a profound error. All ideologies are based upon dogmatic as-
sertions which are, at best, doubtful, and at worst, totally false. Their adherents be-
lieve in them so fanatically that they are willing to go to war in support of them.

The movement of world opinion during the past two years has been very largely
such as we can welcome. It has become a commonplace that nuclear war must be
avoided. Of course, very difficult problems remain in the international sphere, but the
spirit in which they are being approached is a better one than it was some years ago. It
has begun to be thought, even by the powerful men who decide whether we shall live or
die, that negotiations should reach agreements even if both sides do not find these a-
greements wholly satisfactory. It has begun to be understood that the important conflict
nowadays is not between East and West, but between Man and the H-bomb.

26 . [ 3% M8 ] This passage implies that war is now
A) more wicked than in the past
B) less wicked than in the past
C) as wicked as in the past

D) what people try to live with

o

130 AH BAC KERS 0.1%0‘
B TEE,RE23HINET
0,808 BACKEHRESH
0.1% .8 B)IER,

A7 JETPE 3T
[MHF]E 3 BRD, FESIBRED
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27. [ ) According to the author
A) it is impossible to live without war
B) war is the only way to settle international disagreements
C) war must be abolished if man wants to survive
D) war will be abolished by modern ingenuity

28 . [ i ] The author says that modern weapons
A) will help abolish war
B) put mankind in grave danger
C) will gradually become part of man’s life
D) need further improving

20. [ ] The author believes that the only way to abolish war is to
A) abolish nuclear weapons
B) let the stronger side take over the world
C) improve bacteriological and chemical weapons
D) settle international issues through negotiation

30. [ /8 ] The last paragraph suggests that
A) nuclear war will definitely not take place
B) international agreements are now reached more and more easily
C) man is beginning to realize that nuclear war is his greatest enemy

D) world opinion is in favor of nuclear war

Passage Three
Questions 31 to 35 are based on the following passage:

The first synthetic plastic was a thermosetting resin called ebonite, patented in
1843 . Plastics are divided into two broad categories, thermosets and thermoplastics.
The thermosets are materials that, once heated, take on a permanent form that cannot
be changed by reheating, while thermoplastics repeatedly soften on heating and harden
on cooling. ‘

Much of the early work on plastics was on thermosets, and it may have been this
limitation that prevented them from becoming highly acceptable materials. Another rea-
son is that they were looked upon as substitutes for existing materials, rather than as
new materials requiring new ideas in design and usage. Part of this “substitute” out-
look still survives, with people disparaging plastics as second-rate materials. However,

with the major advances in formulation and use of plastics since the Second World
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War, this attitude is now passing out of fashion.

31

32.

33.

34.

35.

[ ] What does the passage mainly discuss?

A) The importance of plastics in the Second World War.
B) Various uses for plastics.

C) The early history of synthetic plastics.

D) People’s attitudes toward new materials .

(iﬁ!)According to the passage, materials which can repeatedly be softened and
hardened are called

A) thermoplastics

B) ebonites

C) thermosets

D) substitutes

[ 3% M ] According to the passage, why may plastics not have been widely accepted
at first?

A) Initial research was on plastics with limited utility .

B) A world war caused plastics to be in short supply.

C) Existing plastics were not sufficiently heat-resistant.

D) Some researchers felt that plastics were dangerous.

[ 5 1 ] Which of the following would be LEAST useful if it were made from thermo-
plastic?

A) A vase for flowers.

B) A doorknob.

C) A table.

D) A coffee cup.

[/ ] The passage following the passage most probably discusses
A) the characteristics of plastics made in the early 1800°s ‘
B) the greater acceptance of plastics since the Second World War
C) the reason some people consider plastics inferior to other materials

D) the absence of plastics from the world of fashion

Passage Four
Questions 36 to 40 are based on the following passage:

All that we really need to plot out the future of our universe are a few good meda-
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surements. This does not mean that we can sit down today and outline the future course
of the universe with anything like certainty. There are still too many things we do not
know about the way the universe is put together. But we do know exactly what informa-
tion we need to fill in our knowledge, and we have a pretty good idea of how to go
about getting it.

Perhaps the best way to think of our present situation is to imagine a train coming
into a switchyard. All of the switches are set before the train arrives, so that its path is
completely determined. Some switches we can see, others we canmot. There is no am-
biguity if we can see the setting of a switch: we can say with confidence that some pos-
sible futures will not materialize and others will. At the unseen switches, however,
there is no such certainty. We know the train will take one of the tracks leading out,
but we have no idea which one. The unseen switches are the true decision points in the
future, and what happens when we arrive at them determines the entire subsequent
course of events.

When we think about the future of the universe, we can see our “track” many
billions of years into the future, but after that there are decision points to be dealt with
and possible fates to consider. The goal of science is to reduce the ambiguity at the de-
cision points and find the true road that will be followed.

36. [ 1% ] According to the passage, it is difficult to be certain about the distant fu-
ture of the universe because we
A) have too many conflicting theories
B) do not have enough funding to continue our research
C) are not sure how the universe is put together

D) have focused our investigations on the moon and planets

37.[ 3% ) What does the author see as the function of the universe’s unseen “switch-
es”?
A) They tell us which one of the tracks the universe will use.
B) They enable us to alter the course of the universe.
C) They give us information about the lunar surface.

D) They determine which course the universe will take in the future.

38 .[i# M )In Para.3, the word “track” could best be replaced by
A) band
B) path
C) rails
D) sequence

39. [ {# B ] For whom is the author probably writing this passage?
A) train engineers
B) professors of statistics
C) general audiences
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